PRESENTATION NIGHT 1996/97 SEASON



FROM THE PRESIDENT

At the start of the season we set our sights on becoming 'The Champion Club' in the Association. This ambition was not realised but I can say with great confidence that Bentley finished this year as a force to be reckoned with. Two consecutive premiership seasons is a very satisfying result and I predict that playing in grand finals will become a common occurrence at the Bentley Cricket Club. Once again, on the field the club has been brilliantly led by Steve Shearing who was well supported by Assistant Coach and Chairman of Selectors Dave Berry. Their professionalism, commitment and hard work continue to reap henefits for the club.

Congratulations to our 6th Grade side 'The Dream Team' who have swept all before them this season, not only finishing on top of the ladder but going on to win the premiership. The side was ably led by the "uncommon" captain Greg Dickerson who has made history within the club by being the only captain to dute to lead two consecutive premiership teams. The down side to this great win was the absence of the 'Legend', Lloyd Dungey, due to illness on the second day. This provided the added motivation for the side to do well and the players did not let him down. I am sorry that the Legend was not there to enjoy that momentous occasion and I wish him a speedy recovery.

The efforts of the 4th Grade must also be acknowledged. They stormed into the final four after the last qualifying game, beat minor premiers Nedlands in the semi finals and finally succumbed to Bedford-Morley in the grand final. This loss, albeit a very disappointing one, will provide the motivation for the side to succeed next year.

Our other teams, although not making the final round, were competitive throughout the season. Our number one side continue to improve, recording the most number of wins in 10 seasons and finishing around the middle of the ladder. The 7th Grade must be ruing a couple of close losses early in the season. They have proven themselves to be giant killers by convincingly beating all the teams in the final four and finishing the season just outside the four. Our 9th Grade were the trendsetters early in the season but fell away towards the latter half. I am positive that the lessons learnt this year will strengthen the resolve of all the players in these grades to do better next season.

Off the field, the club's administration continues to be strong. This season in some respects saw a changing of the guard with a new look committee. Some of the old stalwarts in Ace Hayward, Leslie Magill and Legend Dungey provided the experience and guidance to the new comers. With 5 teams, the committee's major focus has been on financial matters, particularly fund raising. Financially, the club is in a satisfactory position. This is largely due to the tireless efforts of the committee and I take this opportunity to extend to them my appreciation and thanks for a job well done. I would also like to thank all those associated with the club for their support over the season.

Where to from here? The focus must turn to our top team again, as I believe this side is not far from a final four appearance. Our recruiting committee will once again be busy off season in attempting to attract and secure the services of two to three quality players. Promotion to the First Grade is our long term aim.

I also note that the Canning Shire has been requested to re position the training wickets and to add on a fourth net. I will be pursuing this vigorously with the Shire and hope to receive a favourable response.

Off the field, the committee must endeavour to attract new sponsors and consolidate the club's financial position. The club also needs new blood to join the committee and become involved in the administration of the club. The changing of the guard must continue to ensure the future growth and success of the club.

All in all, the 1996/97 season was a tremendous year for the club, the highlight being the back to back premierships. As my first year as President, it has been a challenging and rewarding one. I look forward to the next season.

Ron Fernandez President Bentley Cricket Club 24 March 1997

COACHES REPORT

Congratulations to all players who have represented the Bentley Cricket Club during the past season. This era we are now entering will be the best and most successful stage our Club has experienced in our 43 year history.

Our pre-season goal of being the champion Club, all be it not reached, saw significant improvements within the playing strength of all grades and should see the Club closer to it's goal in 1997/98.

The introduction of a fifth team, a calculated gamble, paid off in terms of providing a game of cricket for additional players. Even though the expense is great this should be offset over the coming years.

The conduct and commitment of all players should be commended and all associated with the Club can honestly say they played a part in our successful finals campaign.

The squads which were chosen to represent the Bentley Cricket Club during the finals should be honoured to have done so. The feelings of finals is truly a great one, and certain happenings during a final are the things you will remember and cherish for the rest of your life. It may not be the actual win, but more so an actual wicket, run, eatch or situation which best describes your feelings.

To Captains Glenn Davies, Greg Dickerson, Stephen Cairns and Paul Warren and Chairman of Selectors Dave Berry, well done, your views and thoughts have seen our sixth premiership and you are certainly a large factor, both current and in the future for the Club's continued success.

To Greg Dickerson and his team well done, a much deserved win.

To Glenn and his team a tremendous effort, Glenn's captaincy has now progressed to a stage where he will be a fine leader, a person and Captain who can rally his men but also lead from the front.

A Grand Final loss in cricket unfortunately gets our Club nothing or the players nothing to rest on the mantelpiece at home. We are only left with the feeling of being second this year and knowing it is not far away at our next try.

I look forward to seeing everyone over winter for a beer and the opportunity to associate with a wonderful group of people.

Steven Shearing. Coach Bentley Cricket Club.

COMMITTEE MEMBERS

1996/97 SEASON

PRESIDENT:

RON FERNANDEZ

VICE PRESIDENT:

GLENN DAVIES

SECRETARY:

LESLEY MAGILL

TREASURER:

ANDREW HAYWARD

COMMITTEE MEMBERS:

SHANE CRANE

LLOYD DUNGEY

GUS EDMONDS

SIMON MAGILL

WARREN SHAW

PAUL WARREN

2ND GRADE

Played eleven, won five, drawn one, lost five, a reasonable year for our first team, in fact the best since our second grade Premiership win in 1986.

The standard we have now reached in what we could call the JETBOTNY factor. A level of cricket which is the minimum any Bentley side should do in any given year. We always can't be premiers but you should have a personal standard which collectively over eleven players ensures the side wins games. It is also called personal pride and discipline.

Our side had more highlights than lows, however, some lows certainly stand out in the mind. I will however only talk of the highlights, of which there are many. Our great team fielding and bowling performance versus Doubleview, taking their last eight wickets for 22 runs. Serge Perrozzi an inspiration in the field all year, winner of the "A" grade best fielder and top votes in this game, cleaning up with bat and ball was the single biggest influence in this particular game. A year under his belt acclimatising to the Bentley style will see further significant gains for our Club from Serge.

The introduction of new blood to the first side saw the emergence of "JC" (Chandler Justin), a player who acquitted himself well and he too will benefit from a year with the Bentley Cricket Club. JC with his partners got us across the line on several occasions, a point certainly worthy of a mention. Well done JC

For a side to improve there must be improvement within the ranks, one can do this by recruiting or by the improvement of individuals. Dave Barry's work ethic is second to none at our Club, he trains hard, is keen to assist others and hates opposition batsmen. Dave's efforts this year are again certainly worthy of special mention. Well done Junior (Dave Barry).

Dave along with Rod Duncan provided Bentley with the best opening attack in the grade and victory was certainly set up by these two fine fast bowlers. Rod was again our largest wicket taker and like several of his fast bowling counterparts was not always on the same wavelength as everyone else. His enthusiasm should see Rod improve on his 50 odd wickets to date, but maybe in a lesser role next season.

On behalf of all players I would like to thank Glad Sheppard for her professional help and assistance on Match days. Glad thankyou very much (XXX).

Finally I need to extend my sincere thanks to our Assistant Coach and Vice Captain David Berry. His batting has been sensational, his keeping of wickets admirable and his advice and encouragement to our team we could have not done without. David's efforts in winning the Hayward Medal is a true indication of his skill and dedication to our Club. David congratulations and the players salute you.

Steven Shearing. Captain 2nd Grade.

2ND GRADE

BATTING AND FIELDING

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
D.BERRY	11	13	3	101*	388	38.80	27/4
S.PERROZZI	10	11	0	74	276	25.09	. 7
S.SHEARING	10	12	1	84	246	22,36	6
J.CHANDLER	7	7	2	42	162	32.40	3
P.KOCIAN	5	4	I	41*	93	31.00	1
J.SMYTH	5	6	0	29	92	15.33	4
P.SMITH	8	8	0	47	87	10.88	2
K.DAWSON	6	6	0	43	69	11.50	3
R.BENNETT	2	2	0	55	55	27.50	1
D.BARRY	10	9	2	14*	52	7.43	6
J.GEORGE	6	6	0	27	41	6.83	2
S.MAGILL	4	5	0	13	39	7.80	1
K.SPENCER	3	4	3	14*	38	38.00	2
B.HAYWARD	2	3	0	29	37	12.33	0
M.HARMER	6	7	2	12	36	7.20	4
M.DICKERSON	6	7	0	17	26	3.71	0
R.DUNCAN	10	7	4	10*	19	6.33	0
P.WARREN	1	1	0	17	17	17.00	0
M.SANDISON	3	3	0	11	15	5.00	3
S.DAWSON	2	2	i	7	13	13.00	0
B.COX	1	1	l	12*	12	-	0
S.CRANE	1	1	0	11	11	11.00	0
P.LINEHAN	1	1	0	11	11	11.00	0
T.MAGILL	l	l	0	2	2	2.00	I

2ND GRADE

BOWLING

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.	В/В
R.DUNCAN	137.3	31	391	25	15.64	6/34
S.PERROZZI	131.4	21	383	21	18.24	6/39
D.BARRY	122.3	20	378	19	19.89	4/49
M.DICKERSON	66	5	296	10	29.60	3/41
K.SPENCER	34	9	110	8	13.75	4/18
P.SMITH	82	19	187	8	23.38	3/21
J.GEORGE	44	15	97	7	13.86	3/24
J.CHANDLER	11	0	64	3	21.33	3/34
M.SANDISON	14	3	41	2	20.50	2/14
S.SHEARING	10.5	2	33	1	33.00	1/15
J.SMYTH	8	1	50	1	50.00	1/33
P.KOCIAN	26.4	8	65	1	65.00	1/18
D.BERRY	1	0	2	0		-
S.DAWSON	3	0	12	0		-
B.COX	3	0	15	0	-	-
S.CRANE	13	3	28	0	-	-
T.MAGILL	12	3	47	0	-	-

2ND GRADE

BEST PARTNERSHIPS

IST WICKET	49	S.SHEARING / D.BERRY	V	NEDLANDS
2ND WICKET	39	J.SMYTH / P.SMITH	V	WEMBLEY
3RD WICKET	30	S.PERROZZI / P.LINEHAN	V	TUART HILL
4TH WICKET	102	S.PERROZZI / S.SHEARING	V	MELVILLE
5TH WICKET	135	S.SHEARING / D.BERRY	V	HAMERSLEY CARINE
6TH WICKET	36	D.BERRY / J.GEORGE	V	FREMANTLE MOS. PARK
7TH WICKET	66	D.BERRY / P.KOCIAN	V	TUART HILL
8TH WICKET	29	J.CHANDLER / D.BARRY	V	DOUBLEVIEW
9TH WICKET	23	S.DAWSON / B.COX	V	MURDOCH
10TH WICKET	32	D.BERRY / R.DUNCAN	V	MELVILLE

FIELDING (25 VOTES OR MORE)

100	S.PERROZZI	62	M.HARMER	35	J.GEORGE
82	D.BERRY	56	S.SHEARING	28	M.DICKERSON
63	LSMYTH	36	J.CHANDLER	2.7	D BARRY

4TH GRADE

Led by rookie skipper Glenn Davies, this side stormed through the latter part of the season, to completely demolish top side Thornlie in the semi final before finally going down to Bedford Morley in the Grand Final. Eight wins from thirteen games was an outstanding result by a team that was totally committed and prided itself on always doing it for the team.

The batting was brittle on some occasions, whilst being brilliant on others, and was once again superbly led by Greg Sheppard who regularly scored runs in the difficult opening position. Good support was provided during limited appearances by Brian Hayward and Jeremy Smyth, with Simon Magill and Kirk Spencer offering more consistent support. Jeremy's 106 in the last qualifying fixture was outstanding and stamped him as a class player of the future.

Bentley's bowling for much of the season was the best in the Competition, whilst Matt Sandison's ten wicket haul against Murdoch was individually superb, Matt throughout the year received backup from a quartet of fine medium pacers in Ian Dickerson, Shane Crane, Tony Magill and Kirk Spencer. Spinner Greg Sheppard once again showed he is a regular wicket taker, with 21 wickets to his name.

The fielding like most of the things this side did during the season was very much a team effort, there were however, two standouts in Tony Magill and keeper Glenn Davies who were at the forefront throughout in setting a great standard.

Once again this side produced a number of form players into the 2nd Grade, thereby providing the depth the Club needs to have a very successful and competitive top side.

4TH GRADE

BATTING AND FIELDING (INC. FINALS)

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
G.SHEPPARD	11	13	1	85	365	30.42	4
B.HAYWARD	5	4	0	77	186	46.50	4
J.SMYTH	4	4	0	106	177	44.25	1
S.MAGILL	9	10	1	51*	165	18.33	6
K.SPENCER	10	10	5	61	150	30.00	5
G.DAVIES	12	9	0	43	146	16.22	23/3
M.HARMER	6	8	l	44*	127	18.14	5/1
K.DAWSON	7	8	0	29	112	14.00	0
T.MAGILL	11	11	2	36	111	12.33	7
P.LINEHAN	6	7	0	35	106	15,14	3
LDICKERSON	7	7	2	29	98	19.60	3
M.SANDISON	10	10	4	36*	90	15.00	4
J.GEORGE	6	4	l	51*	89	29.67	1
S.CRANE	9	9	2	25	. 88	12.57	I
S.DAWSON	9	9	0	21	66	7.33	3
M.SMITH	5	5	0	26	51	10.20	2
K.FERGUSON	4	5	0	24	46	9.20	2
S.TAGLIAFERRI	4	3	1	22*	34	17.00	2
J.CHANDLER	2	2	0	20	30	15.00	l
D.RICKARDS	1	2	0	22	30	15.00	0
P.MURPHY	4	5	2	8*	18	6.00	2
L.GUY	1	1	0	8	8	8.00	l
M.MURPHY	I	2	l	3	3	3.00	I
P.KOCIAN	1	i	0	2	2	2.00	0
A.HAYWARD	1	1	0	1	1	1.00	0

4TH GRADE

BOWLING (INC. FINALS)

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.	B/B
M.SANDISON	111	29	214	25	8.56	5/14
I.DICKERSON	131	41	329	22	14.95	4/50
G.SHEPPARD	96.5	19	289	21	13.76	6/72
S.CRANE	149.5	48	321	20	16.05	4/31
T.MAGILL	117	28	317	15	21.13	4/12
K.SPENCER	113.3	35	252	14	18.00	5/20
P.MURPHY	58	14	146	8	18.25	4/41
J.GEORGE	41.1	17	74	4	18.50	3/22
P.KOCIAN	14	3	46	2	23.00	2/46
M.SMITH	4	0	7	1	7.00	1/7
A.HAYWARD	6	2	12	1	12.00	1/12
L.GUY	5	3	3	0	-	-
M.MURPHY	3	1	9	0	-	-
D.RICKARDS	3 ·	0	14	0	-	-
P.LINEHAN	+	0	17	0	-	-
S.DAWSON	5	1	26	0	-	-

BEST PARTNERSHIPS

IST WICKET	93	S.MAGILL / G.SHEPPARD	V	WEMBLEY
2ND WICKET	56	S.MAGILL / K.DAWSON	V	TUART HILL
3RD WICKET	68*	S.MAGILL / M.SANDISON	V	DOUBLEVIEW
4TH WICKET	116	G.SHEPPARD / B.HAYWARD	V	HAMERSLEY CARINE
5TH WICKET	126	J.SMYTH / K.SPENCER	V	MURDOCH UNI. *
6TH WICKET	65	B.HAYWARD / M.SMITH	V	NEDLANDS
7TH WICKET	93	G.DAVIES / K.SPENCER	V	THORNLIE
8TH WICKET	35	G.DAVIES / I.DICKERSON	V	HAMERSLEY CARINE
9TH WICKET	58*	J.GEORGE / M.SANDISON	V	TUART HILL
10TH WICKET	48	P.LINEHAN / S.CRANE	V	THORNLIE

* DENOTES RECORD THIS TEAM

FIELDING (25 VOTES OR MORE)

125	T.MAGILL	63	S.MAGILL	43	M.SANDISON
96	G.DAVIES	50	M.HARMER	31	I.DICKERSON
88	S.DAWSON	44	M.SMITH	25	B.HAYWARD

6TH GRADE

PREMIERS & GRADE WINNERS

The Dream Team took all before them this season to lose only one game mid-year and thereby claim the Club's sixth Premiership Flag. The selection policy in mixing experience with youth produced a well balanced, confident side that played exceptionally well during the finals campaign.

Back to back Premiership captain Greg Dickerson again led the side brilliantly, whilst managing to score better than 300 runs and lead the batting. He received superb support from young guns Damian Rickards and Justin Warren, with veteran Lloyd Dungey consistent throughout, and Mal Dickerson and Brian Hayward prominent in the latter part of the season.

The 175 run undefeated opening partnership, an Association record, between Greg Dickerson and Mark Murphy was a magnificent effort in concentration in difficult playing conditions, as was Dicko's hundred. Damian Rickard's 112 against Nedlands, when under pressure to hold his place in the team, was sensational and showed that he is more than capable of playing in the higher Grades.

Mark Lukan and Ace Hayward dominated the bowling and generally had the measure of all opposition batting lineups. Their combined opening spells consistently had sides in trouble and ensured the team chased reasonably small targets. Ace's 6 for 13 in the semi-final and Mark's ten wicket haul in the first fixture were standout performances.

Eye-catching performers in the field were keeper Bart Scalora, with 5 great catches against Shenton Park, as well as a number of solid efforts in the latter part of the year, and Justin Warren both behind the wickets and in the field where he was magnificent.

The team earned promotion to 5th grade for next season.

6TH GRADE

BATTING AND FIELDING (INC. FINALS)

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
G.DICKERSON	13	12	1	100*	304	27.64	3
D.RICKARDS	11	11	1	112	262	26.20	7
J.WARREN	7	10	2	70	255	31.88	15
L.DUNGEY	12	9	2	52	216	30.86	1
M.DICKERSON	6	6	1	68	202	40.40	5
B.HAYWARD	6	5	0	56	178	35.60	2
A.HAYWARD	12	11	1	48	178	17.80	3
K.FERGUSON	8	10	0	37	157	15,70	3
M.MURPHY	7	8	l	56*	114	16.29	3
P.MURPHY	7	8	1	26	72	10.29	3
P.LINEHAN	2	2	1	55*	66	66.00	2
M.LUKAN	13	8	3	16*	66	13.20	4
R.FERNANDEZ	7	4	1	29*	49	16.33	2
S.CRANE	2	3	1	26*	39	19.50	1
B.SCALORA	9	8	5	20*	35	11.67	17
I.DICKERSON	2	2	0	21	30	15.00	1
R.JEVONS	2	2	1	23	23	23.00	3
D.NARBEY	3	3	1	13	16	8.00	2
J.KANE	3	2	0	10	12	6.00	0
S.GHAURI	1	1	0	8	8	8.00	1
C.SMART	l	1	0	7	7	7.00	0
J.WHYTE	2	1	0	5	5	5.00	3
A.MOORE	2	1	0	4	4	4.00	0
L.GUY	2	1	0	3	3	3.00	0
G.DAVIES	1	1	0	1	1	1.00	3
D.BELL	1	0	0	0	0	-	1
R.DUNCAN	1	0	0	0	0	-	0
A.MORTIMER	1	0	0	0	0	-	1
B.MURPHY	1	0	0	0	0	-	0
M.SMITH	1	0	0	0	0	-	0
P.WARREN	SUB	0	0	0	0	-	2

6TH GRADE

BOWLING (INC.FINALS)

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.	В/В
M.LUKAN	219.3	71	441	41	10.76	5/5
A.HAYWARD	192.2	42	478	41	11.66	7/25
M.DICKERSON	87	22	209	15	13.93	4/7
S.CRANE	34	7	84	10	8.40	4/22
P.MURPHY	68	20	166	8	20.75	2/37
I.DICKERSON	31	7	91	7	13.00	5/31
G.DICKERSON	29.2	3	103	5	20.60	1/6
D.RICKARDS	16.1	3	72	3	24.00	1/13
D.NARBEY	19	3	88	3	29.33	3/35
R.DUNCAN	12	2	37	2	18.50	2/37
A.MOORE	. 33	9	55	2	27.50	1/19
J.KANE	21	4	73	2	36.50	1/25
C.SMART	4	0	16	1	16.00	1/16
L.GUY	18	6	32	1	32,00	1/11
M.MURPHY	20	3	82	1	82.00	1/11
R.JEVONS	3	0	10	0	-	-
M.SMITH	3	0	12	0	-	-
L.DUNGEY	2	0	15	0	•	•
D.BELL	8	1	39	0	-	-

BEST PARTNERSHIPS

IST WICKET	175*	M.MURPHY / G.DICKERSON	V	MURDOCH *
2ND WICKET	53	G.DICKERSON / D.RICKARDS	V	NEDLANDS
3RD WICKET	116	D.RICKARDS / B.HAYWARD	V	NEDLANDS *
4TH WICKET	93	B.HAYWARD / M.DICKERSON	V	SHENTON PARK
5TH WICKET	72	L.DUNGEY / A.HAYWARD	V	CURTIN UNI.
6TH WICKET	100	A.HAYWARD / M.DICKERSON	V	APPLECROSS
7TH WICKET	103	L.DUNGEY / J.WARREN	V	THORNLIE
8TH WICKET	54	G.DICKERSON / A.HAYWARD	· V	WHITFORDS
9TH WICKET	28	P.LINEHAN / J.WARREN	V	BEDFORD
10TH WICKET	28	P.LINEHAN / M.LUKAN	V	BEDFORD

* DENOTES RECORD THIS TEAM

FIELDING (25 VOTES OR MORE)

86	B.SCALORA	45	P.MURPHY	33	G.DICKERSON
69	M.MURPHY	44	D.RICKARDS	26	B.HAYWARD
54	J.WARREN	41	L.DUNGEY	25	G.DAVIES

6TH GRADE GRAND FINAL

BENTLEY V WHITFORDS

PLAYED AT WYONG RESERVE

TACC	WANT	DV	RENTI	EV

M.LUKAN

P.MURPHY

M.LUKAN M.DICKERSON

22nd & 23rd MARCH 1997

BENTLEY 1st INNINGS

K.FERGUSON	37	
G.DICKERSON	21	
D.RICKARDS	44	
B.HAYWARD	17	
M.DICKERSON	14	
J.WARREN	3	
L.DUNGEY	28	N.O.
A.HAYWARD	11	
P.MURPHY	2	
B.SCALORA	5	N.O.
M.LUKAN		
sundries	9	
TOTAL	191	

R.FERNANDEZ

12th MAN

WHITFORDS 1st INNINGS

RUSSELL	ct	RICKARDS	b	HAYWARD A.	0
BURNFIELD	ct	HAYWARD B.	b	DICKERSON M.	23
GASTEVICH	ct	RICKARDS	b	HAYWARD A.	59
MERTON	ct	WARREN	b	DICKERSON M.	0
HODSON	ct	MURPHY	b	HAYWARD A.	26
CLARKE	ct	WARREN	b	DICKERSON M.	10
WILSON	ct	MURPHY	b	HAYWARD A.	l
GUILFOYLE		not out			35
HAYLES	ct	DICKERSON M.	b	DICKERSON M.	0
FRASER	ro	HAYWARD A.			7
PARADISO	ro	MURPHY/HAYWARD A.			3
sundries					6
TOTAL					170
, maynuann	21.5				
A.HAYWARD	21.5	5 - 4 - 59 - 4			

17 - 8 - 32 - 0

22 - 4 - 58 - 4

8 - 4 - 19 - 0

BENTLEY WON BY 21 RUNS

A NUMBER OF COMPANIES HAVE PROVIDED SPONSORSHIP TO THE BENTLEY CRICKET CLUB THIS SEASON AND WE WISH TO THANK THEM.

STRIKER BELMONT

THE CRICKET SHOP

PANCHO'S MEXICAN RESTAURANT

JOHN'S BUILDING SUPPLIES

FOODLAND BENTLEY

AUTO ONE MORLEY

CUB BREWERIES

CANNING SPORTS CLUB

LA SAGRA PIZZERIA

A & M BOOKSHOP

ALL SIGNS

ALLSTAR TROPHYS

EUREKA FISH & CHIPS

7TH GRADE

The season 1996/97 for the 7th grade was a season of ups and downs. With the side losing four of the first six games and then after Christmas in the second half of the season convincingly beating three of the sides in the top four. The side improved greatly both in there approach to the game and with great spirit ending with six wins out of the eleven fixtures.

The bowling attack was the strongest in the 7th grade, with only one side scoring over 200 against us and still not winning. All the bowlers performed well, lead by Billy (The Kid) Cox, Craig Rickards, Gus Edmonds and Lindsay (Buzza) Guy. With cameo performances by David Narbey, Glen Hewitt, Justin Chandler and Mark Murphy.

The backbone of the batting for the side was carried by Brendan Kelly, Ron Fernandez, Tony Zerafa and John Kane with nearly all the team at one stage or another producing two or three match winning innings at critical points in a game. We also had guest appearances by Steve Shearing, Jeremy Smyth and Paul Lineban

No team can win a game without team spirit and heart, and as the captain the 7th grade side showed that we had what it takes, with excellent ground fielding led week after week by Brendan, Bill, Craig, Lindsay and Kevin Magill, as well as those players who joined the team later such as Robbie Bennett, Mark Murphy and Ross Jevons. All the players gave at some point in the season an effort that lifted the team.

It would be very remiss of me not to highlight some of the individual efforts, although those players would tell you it was a team effort. Brendan's 85 and many other gutsy innings, Lindsay's 8 for, John Kane's match winning 54 and Bill and Craig's tandem bowling efforts, in both obtaining wickets and restricting the scoring in many games.

I apologise if I have missed any one person, however, if the 7th grade can maintain a steady line up of 6 to 7 core players, a flag will be produced in season 1997/98.

Thankyou to all the players and helpful support of the selection committee, and the great support given by wives, girlfriends, mums and dads.

Stephen Cairns. Captain 7th Grade

BATTING AND FIELDING

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMF
B.KELLY	11	12	2	85*	323	32.30	13/1
T.ZERAFA	10	16	3	51	221	17.00	4
R.FERNANDEZ	5	7	l	101	203	33.83	2
J.KANE	7	9	l	51	196	24.50	4
B.COX	10	13	5	38	160	20.00	4
S,CAIRNS	9	10	1	21	107	11.89	1
G.EDMONDS	11	11	l	19	106	10.60	4
R.JEVONS	2	3	0	48	77	25.67	0
S.SHEARING	1	1	0	74	74	74.00	0
K.MAGILL	6	7	1	29*	74	12.33	0
C.RICKARDS	9	7	2	20*	60	12.00	3
J.WHYTE	3	4	0	42	58	14.50	0
L.GUY	8	7	4	22*	48	16.00	2
J.SMYTH	ı	1	0	44	44	44.00	1
G.NAIRN	l	1	0	25	25	25.00	0
D.NARBEY	3	4	0	14	21	5.25	3
R.BENNETT	2	2	0	12	20	10.00	1
B.BINDON	4	5	1	7	16	4.00	1
S.TAGLIAFERRI	2	4	0	12	16	4.00	2
G.HEWITT	1	1	l	15*	15	-	0
L.KIRWAN	2	2	0	12	13	6.50	1
M.MURPHY	1	1	0	9	9	9.00	1
P.LINEHAN	1	1	0	8	8	8.00	1
D.GASCOINE	4	4	1	5	7	2.33	1
P.QUARTERMAINE	l	1	0	6	6	6.00	0
A.MOORE	2	2	1	1*	1	1.00	. 1
C.SMART	1	1	0	1 .	1	1.00	0
D.BELL	1	i	0	0	0	_	0
J.CHANDLER	1	1	0	0	0	-	0
I.DICKERSON	1	1	0	0	0	-	0

BOWLING

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.	В/В
C.RICKARDS	113,5	24	295	24	12.29	6/36
B.COX	113	29	256	22	11.64	5/16
G.EDMONDS	126	30	347	22	15.77	4/19
L.GUY	110.2	27	298	21	14.19	8/25
D.BELL	16	3	46	5	9.20	3/32
R.FERNANDEZ	13	0	40	4	10.00	4/40
C.SMART	4	1	8	3	2.67	3/8
J.CHANDLER	20.4	9	22	3	7.33	2/17
J.KANE	39	2	126	3	42.00	2/36
G.NAIRN	6	1	24	2	12.00	2/24
A.MOORE	22	4	66	2	33.00	1/22
S.SHEARING	4	0	22	1	22.00	1/22
T.ZERAFA	6	0	26	1	26,00	1/26
D.NARBEY	21	9	34	1	34.00	1/9
K.MAGILL	,4	2	8	0	-	-
I.DICKERSON	7	2	11	0	-	_
G.HEWITT	. 6	2	15	0	-	-
M.MURPHY	6	1	16	0	-	_
B.KELLY	2	0	16	0	-	_
D.GASCOINE	5	2	21	0		_
P.LINEHAN	8	1	26	0	-	-
	-	1			-	-

BEST PARTNERSHIPS

IST WICKET	38	S.CAIRNS / T.ZERAFA	V	MURDOCH	
2ND WICKET	120	J.WHYTE / S.SHEARING	V	BEDFORD *	
3RD WICKET	50	J.KANE / B.KELLY	V	MNOB	
4TH WICKET	52	R.FERNANDEZ / B.KELLY	V	MURDOCH	
5TH WICKET	30	R.FERNANDEZ / B.KELLY	v	WHITFORDS	
6TH WICKET	69	B.KELLY / G.EDMONDS	V	MELVILLE *	
7TH WICKET	100	R.FERNANDEZ / R.JEVONS	V	MURDOCH *	
8TH WICKET	24	G.EDMONDS / L.GUY	V	BASSENDEAN	
9TH WICKET	42	B.KELLY / G.EDMONDS	V	MNOB	
10TH WICKET	48	B.COX / G.NAIRN	V	SHENTON PARK	*

* DENOTES RECORD THIS TEAM

FIELDING (25 VOTES OR MORE)

102	B.COX	41	G.EDMONDS	31	R.BENNETT
97	K.MAGILL	37	S.CAIRNS	28	B.BINDON
76	B.KELLY	36	T.ZERAFA	28	D.GASCOINE
47	CRICKARDS	3.1	I CIIV		

9TH GRADE

The inaugural year for the Bentley 5th side saw them led by first year captain Paul Warren and compete in the One Day Competition. Eleven wins and nine losses was a fair effort given the ever changing nature and rotating roster of the available personnel.

The batting at times was the weak link of the side as they struggled to make, or chase competitive scores. There were however, two standouts in Paul and Justin Warren, both of whom scored better than 300 runs whilst batting superbly at the top of the order and continually giving the team the required good starts. Justin's maiden century, in the game against Shenton Park, during which he batted throughout the innings to remain 115* was sensational and the obvious individual highlight of the year.

Whilst the batting at times disappointed, the same could not be said for the bowling. A number of players, in particular Warren Shaw, Chris Smart. Glen Hewitt, Justin Warren and Derek Gascoine all at times produced outstanding individual performances in the Grade where each bowler is restricted in the number of overs per game to seven.

The fielding standard was set by Ross Jevons and Paul Warren with sound performances throughout the season, whilst in limited games Kevin Magill also performed admirably.

A credit to this side is that six players commenced the season in this Grade and went on to play significant roles in the 2nd Grade side later in the season.

BATTING AND FIELDING

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
P.WARREN	13	13	1	72	335	25.77	15/2
J.WARREN	9	9	1	115*	324	40.50	6
R.JEVONS	9	9	1	29*	157	19.63	9/1
W.SHAW	13	12	2	41*	104	10.40	3
G.HEWITT	10	8	3	31*	99	19.80	2
D.GASCOINE	10	10	1	20	78	8.67	7
B.BINDON	7	7	0	23	71	10.14	5
A.MOORE	4	4	2	30*	65	32.50	0
J.SMYTH	2	2	0	33	64	32.00	l
D.BELL	3	4	1	21*	57	19.00	4
R.FERNANDEZ	1	1	0	55	55	55.00	l
S.CAIRNS	2	2	1	33	49	49.00	1
J.WHYTE	4	4	0	22	48	12.00	1
J.CHANDLER	ì	1	0	46	46	46.00	0
K.MAGILL	5	5	0	38	46	9.20	1
S.GEORGE	3	3	0	35	44	14.67	0
D.NARBEY	3	3	1	23	38	19.00	1
R.BENNETT	2	2	0	22	36	18.00	1
D.TERRELL	5	5	0	21	29	5.80	4
C.SMART	12	9	0	13	29	3.22	1
B.SCALORA	1	1	1	28*	28	-	3/1
B.MURPHY	9	7	2	9*	28	5.60	1
J.NICHOLS	8	6	0	9	27	4.50	4
P.LINEHAN	2	2	0	19	24	12.00	0
M.DICKERSON	1	1	0	18	18	18.00	0
P.NIELSEN	11	7	4	9	16	5.33	0
C.MONCREIFF	2	2	1	9*	12	12.00	0
M.GREEN	4	4	2	6*	12	6.00	2
B.LOWDEN	3	3	0	6	9	3.00	0
GRA.DICKERSON	1	1	0	7	7	7.00	0
D.PILKINGTON	2	2	l	5	5	5.00	0
J.CHINA	2	1	0	4	4	4.00	0
D.WARREN	1	i	0	2	2	2.00	0
N.HERBERT	l	l	1	1*	1	-	0
J.KANE	l	1	0	1	1	1.00	I
L.KIRWAN	3	2	0	l	1	0.50	0
S.KING	1	0	0	0	0	-	0

BOWLING

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.	В/В
W.SHAW	101.5	10	395	25	15.80	4/31
C.SMART	74	8	297	15	19.80	3/18
G.HEWITT	64	12	236	13	18.15	3/33
J.WARREN	46.1	7	165	11	15.00	3/14
D.GASCOINE	57	7	189	11	17.18	3/9
D.BELL	35	2	172	7	24.57	2/32
D.NARBEY	21	2	56	6	9.23	3/22
P.LINEHAN	11.1	0	39	5	7.80	3/18
J.SMYTH	10	l	17	4	4.25	3/12
R.JEVONS	7.2	1	56	4	14.00	4/50
B.LOWDEN	13	0	84	4	21.00	4/37
J.CHANDLER	4	0	15	3	5.00	3/15
K.MAGILL	5	0	50	3	16.67	3/50
P.NIELSEN	20	0	125	3	41.67	1/15
L.KIRWAN	2	0	20	2	10.00	2/20
M.GREEN	6	1	28	2	14,00	2/28
A.MOORE	28	4	101	2	50.50	1/9
J.CHINA	4	1	13	1	13.00	1/13
B.BINDON	1.4	0	15	1	15.00	1/15
D.TERRELL	3	0	20	1	20.00	1/20
B.MURPHY	l	0	5	0	-	-
P.WARREN	2	0	8	0	-	-
M.DICKERSON	7	2	16	0	-	-
J.NICHOLS	7	1	16	0	-	-
GRA.DICKERSON	5	0	22	0	-	-
S.KING	4	1	28	0	-	-

BEST PARTNERSHIPS

IST WICKET	86	J.WARREN / J.CHANDLER	V	WEMBLEY *
2ND WICKET	93	J.WARREN / R.FERNANDEZ	V	NEDLANDS *
3RD WICKET	43	J.WARREN / R.JEVONS	V	THORNLIE *
4TH WICKET	40	K.MAGILL / B.SCALORA	V	DOUBLEVIEW *
5TH WICKET	39	J.WARREN / P.WARREN	V	SHENTON PARK *
	39	B.SCALORA / G.HEWITT	V	DOUBLEVIEW *
6TH WICKET	38	S.CAIRNS / D.GASCOINE	V	NEDLANDS *
7TH WICKET	30	W.SHAW / D.BELL	V	THORNLIE *
8TH WICKET	39	A.MOORE / G.HEWITT	V	HIGH WYCOMBE *
9TH WICKET	24*	J.WARREN / D.NARBEY	V	SHENTON PARK *
10TH WICKET	14	C.SMART / G.HEWITT	V	WEMBLEY DOWNS *

* DENOTES RECORD THIS TEAM

FIELDING (25 VOTES OR MORE)

103	R.JEVONS	52	G.HEWITT	35	M.GREEN
100	P.WARREN	51	J.WARREN	30	B.MURPHY
76	K.MAGILL	47	B.BINDON	29	D.BELL
69	J.NICHOLS	44	D.GASCOINE	29	P.NIELSEN
64	W.SHAW	43	D.NARBEY		
61	C.SMART	42	J. WHYTE		

RALPH DUNGEY MEMORIAL TROPHY

J.WARREN	747*	T.ZERAFA	267
S.PERROZZI	586*	M.HARMER	259
G.SHEPPARD	537*	D.NARBEY	258
B.COX	499*	M.MURPHY	225
A.HAYWARD	493	L.DUNGEY	221
M.LUKAN	482*	G.DAVIES	216
P.WARREN	482*	D.BELL	212
J.SMYTH	473	K.FERGUSON	210
D.BERRY	470*	S.CAIRNS	195
M.DICKERSON	464	K.DAWSON	189
I.DICKERSON	463*	P.SMITH	181
R.JEVONS	427*	S.DAWSON	178
W.SHAW	418*	J.WHYTE	176
B.HAYWARD	416*	B BINDON	172
S.CRANE	400	B.SCALORA	150*
B.KELLY	399*	R.BENNETT	140
S.SHEARING	396	A.MOORE	132
R.FERNANDEZ	385*	P.KOCIAN	129
J.CHANDLER	377	M.SMITH	121
K.SPENCER	374	J.NICHOLS	101
A.MAGILL	368*	S.TAGLIAFERRI	82
G.EDMONDS	367	P.NIELSEN	75
M.SANDISON	367*	M.GREEN	67
G.DICKERSON (GREG)	357*	B MURPHY	62
C.RICKARDS	347*	B.LOWDEN	61
K.MAGILL	323	D.TERRELL	60
L.GUY	321	S.GEORGE	45
D.RICKARDS	314	G.NAIRN	45
G.HEWITT	301	L.KIRWAN	43
J.GEORGE	294	S.GHAURI	23
C.SMART	294	J.CHINA	15
R.DUNCAN	291*	C.MONCRIEFF	12
J.KANE	288	D.PILKINGTON	9
P.MURPHY	287	P.QUARTERMAINE	8
P.LINEHAN	282	D.WARREN	8
D.BARRY	269	G.DICKERSON (GRAHAM)	7
D.GASCOINE	267	A.MORTIMER	4
S.MAGILL	267	N.HERBERT	l

^{*} DENOTES TROPHY WINNER SO INELIGIBLE

SEASON BATTING & FIELDING RECORDS

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
J.WARREN	16/	19	3	115*	579	36.19	21
B.HAYWARD	13	12	0	77	401	33.42	6
D.BERRY	11	13	3	101*	388	38.80	27/4
J.SMYTH	12	13	0	106	377	29.00	6
G.SHEPPARD	11	13	1	85	365	30.42	4
P.WARREN	14	14	ì	72	352	27.08	17/2
B.KELLY	11	12	2	85*	323	32.30	13/1
S.SHEARING	11	13	l	84	320	26.67	6
R.FERNANDEZ	13	12	2	101	307	30.70	5
G.DICKERSON (GREG)	13	12	ı	100*	304	27.64	3
D.RICKARDS	12	13	1	112	292	24.33	7
S.PERROZZI	10	11	0	74	276	25.09	7
R.JEVONS	13	14	2	48	257	21.42	12/1
M.DICKERSON	13	14	1	68	246	18.92	5
J.CHANDLER	11	11	2	46	238	26.44	4
T.ZERAFA	10	16	3	51	221	17.00	4
L.DUNGEY	12	9	2	52	216	30.86	1
P.LINEHAN	12	12	1	55*	215	19.55	5
J.KANE	11	12	1	51	209	19.00	5
S.MAGILL	13	15	1	51*	204	14.57	7
K.FERGUSON	12	15	0	37	203	13.53	5
K.SPENCER	13	14	8	61	188	31.33	7
K.DAWSON	13	14	0	43	181	12.93	3
A.HAYWARD	13	12	l	48	179	16.27	3
B.COX	11	14	5	38	172	19.11	4
M.HARMER	12	15	3	44*	163	13.58	9/1
S.CAIRNS	11	12	Z	33	156	15.60	2
G.DAVIES	13	10	0	43	147	14.70	26/3
S.CRANE	12	13	3	26*	138	13.80	2
J.GEORGE	12	10	0	51*	130	14.44	3
I.DICKERSON	10	10	2	29	128	16.00	4
M.MURPHY	9	11	2	56*	126	14.00	5
K.MAGILL	11	12	1	38	120	10.91	I
G.HEWITT	11	9	4	31*	114	22.80	2
A.MAGILL	12	12	2	36	113	11.30	8
R.BENNETT	6	6	0	55	111	18.50	3
J.WHYTE	9	9	0	42	111	12.33	4
G.EDMONDS	11	11	1	19	106	10.60	4
M.SANDISON	13	13	4	36*	105	11.67	7
W.SHAW	13	12	2	41*	104	10.40	3

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
P.KOCIAN	6	5	1	41*	95	23.75	1
P.MURPHY	11	13	3	26	90	9.00	5
P.SMITH	8	8	0	47	87	10.88	2
B.BINDON	11	12	1	23	87	7.91	6
D.GASCOINE	14	14	2	20	85	7.08	8
S.DAWSON	11	11	1	21	78	7.80	3
D.NARBEY	9	10	2	23	75	9.38	6
A.MOORE	8	7	3	30*	70	17.50	1
M.LUKAN	13	8	3	16*	66	13.20	4
B.SCALORA	10	9	6	28*	63	21.00	20/1
C.RICKARDS	9	7	2	20*	60	12.00	3
L.GUY	11	9	4	22*	59	11.80	3
D.BELL	7	5	1	21*	57	9.50	4
D.BARRY	10	9	2	14*	52	7.43	6
M.SMITH	6	5	0	26	51	10.20	2
S.TAGLIAFERRI	6	7	1	22*	50	8.33	4
S.GEORGE	3	3	0	35	44	14.67	0
C.SMART	14	11	0	13	37	3.36	1
D.TERRELL	5	5	0	21	29	5.80	4
B.MURPHY	10	7	2	9*	28	5.60	1
J.NICHOLS	8	6	0	9	27	4.50	4
G.NAIRN	1	l	0	25	25	25.00	0
R.DUNCAN	11	7	4	10*	19	6.33	0
P.NEILSEN	11	7	4	9	16	5.33	0
L.KIRWAN	4	4	0	12	14	3.50	1
C.MONCRIEFF	2	2	1	9*	12	12.00	0
M.GREEN	4	4	2	6*	12	6.00	2
B.LOWDEN	3	3	0	6	9	3.00	0
S.GHAURI	1	i	0	8	8	8.00	1
G.DICKERSON (GRAHAM)	ì	1	. 0	7	7	7.00	0
P.QUARTERMAINE	1	1	0	6	6	6.00	0
D.PILKINGTON	2	2	i	5	5	5.00	0
J.CHINA	2	1	0	4	4	4.00	0
D.WARREN	1	1	0	2	2	2.00	0
N.HERBERT	1	1	1	1*	ı	-	0
S.KING	1	0	0	0	0	-	0
A.MORTIMER	l	0	0	0	0	-	0

SEASON BOWLING RECORDS

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.
A.HAYWARD	198.2	44	490	42	11.66
M.LUKAN	219.3	71	441	41	10.76
S.CRANE	196.5	58	433	30	14.43
I.DICKERSON	169	50	431	29	14.86
M.SANDISON	125	32	255	27	9.44
R.DUNCAN	149.3	33	428	27	15.85
W.SHAW	101.5	10	395	25	15.80
M.DICKERSON	160	29	521	25	20.84
C.RICKARDS	113.5	24	295	24	12.29
B.COX	116	29	271	22	12.32
L.GUY	133.2	36	333	22	15.14
G.EDMONDS	126	30	347	22	15.77
K.SPENCER	147.3	44	362	22	16.45
G.SHEPPARD	96.5	19	289	21	13.76
S.PERROZZI	131.4	21	383	21	18.24
C.SMART	82	9	321	19	16.89
D.BARRY	122.3	20	378	19	19.89
P.MURPHY	126	34	312	16	19.50
A.MAGILL	129	31	364	15	24.27
G.HEWITT	70	14	251	13	19.31
D.BELL	59	6	257	12	21.42
J.WARREN	46.1	7	165	11	15.00
J.GEORGE	85.1	32	171	11	15.55
D.GASCOINE	62	9	210	11	19.09
D.NARBEY	61	14	178	10	17.80
J.CHANDLER	35.4	9	101	9	11.22
P.SMITH	82	19	187	8	23.38
A.MOORE	83	17	222	6	37.00
J.SMYTH	18	2	67	5	13.40
P.LINEHAN	23.1	1	82	5	16.40

SEASON BOWLING RECORDS

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.
G.DICKERSON (GREG)	29.2	3	103	5	20.60
J.KANE	60	6	199	5	39.80
R.FERNANDEZ	13	0	40	4	10.00
R.JEVONS	10.2	1	66	4 、	16.50
B.LOWDEN	13	0	84	4	21.00
K.MAGILL	9	2	58	3	19.33
D.RICKARDS	19.1	3	86	3	28.67
P.KOCIAN	40.4	11	111	3	37.00
P.NEILSEN	20	0	125	3	41.67
L.KIRWAN	2	0	20	2	10.00
G.NAIRN	6	1	24	2	12.00
M.GREEN	6	1	28	2	14.00
S.SHEARING	14.5	2	55	2	27.50
J.CHINA	4	1	13	1	13.00
B.BINDON	1.4	0	15	l	15.00
M.SMITH	7	0	19	1	19.00
D.TERRELL	3	0	20	1	20.00
T.ZERAFA	6	0	26	1	26.00
M.MURPHY	29	5	107	1	107.00
D.BERRY	1	0	2	0	-
B.MURPHY	1	0	5	0	-
P.WARREN	2	0	8	0	-
M.HARMER	6	2	12	0	-
L.DUNGEY	2	0	15	0	-
J.NICHOLS	4	1	16	0	-
B.KELLY	2	0	16	0	-
G.DICKERSON (GRAHAM)	5	0	22	0	-
S.KING	4	1	28	0	-
S.DAWSON	8	1	38	0	-

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
L.DUNGEY	/ 341	428	65	103	7043	19.40	141
B.HAYWARD	281	327	24	106	5514	18,20	181/13
P.QUARTERMAINE	208	262	31	93	5027	21.76	83
A.HAYWARD	234	259	28	114*	4920	21.30	117/4
S.CAIRNS	254	352	54	66	3964	13.30	102
R.FERNANDEZ	139	150	15	101	2925	21.67	47
G.DICKERSON (GREG)	186	214	17	108	2921	14.83	76
LDICKERSON	151	169	20	73	2644	17.74	44
M.DICKERSON	116	141	7	166	2334	17.42	50
B.KELLY	86	101	8	115*	1587	17.06	63/14
A.MAGILL	94	107	20	93	1462	16.80	48
M.HARMER	100	114	21	87	1400	15.05	100/8
S.SHEARING	43	53	8	84	1359	30.20	26
P.WARREN	45	66	3	82	1226	19.46	58/7
G.SHEPPARD	42	49	1	154	1214	25.29	10
G.DAVIES	85	88	11	63	1196	15.53	85/7
S.MAGILL	92	103	18	111	1138	13.39	44
S.TAGLIAFERRI	81	87	13	96	1049	14.18	123/17
M.LUKAN	105	101	18	48	1028	12.69	37
G.NAIRN	134	131	42	95	1017	11.43	60/1
J.GEORGE	37	38	6	64	716	22.38	16
K.FERGUSON	35	44	3	129	715	17.44	12
T.ZERAFA	27	41	3	51	704	18.53	17
K.SPENCER	37	46	16	61	703	23.43	21
D.BERRY	22	23	5	121*	694	38.56	33/4
G.DICKERSON (GRAHAM)	31	41	2	56	690	17.69	34
P.MURPHY	43	47	9	62	651	17.13	18
J.WARREN	19	25	3	115*	645	29.32	25
K.DAWSON	37	42	i	98	633	15.44	10
K.MAGILL	45	59	9	58	624	12.48	16
R.BENNETT	23	31	2	77	569	19.62	31
P.SMITH	19	20	2	65	416	23.11	13
S.CRANE	18	21	5	64	412	25.75	5
J.SMYTH	11	13	0	106	377	29.00	6
G.EDMONDS	4()	41	14	27*	336	12.44	22
L.GUY	55	52	19	35	323	9.79	15
D.RICKARDS	12	13	1	112	292	24.66	7
S.KING	75	72	17	25	292	5.31	16
L.KIRWAN	10	11	0	79	277	25.18	7
S.PERROZZI	10	11	0	74	276	25.09	7

PLAYER	GAMES	INNS	N.O.	H.S.	RUNS	AVE.	CAT/STUMP
S.GEORGE	7	11	1	55	257	25.70	2
R.JEVONS	9	14	2	48	257	21.42	12/1
J.CHANDLER	11	11	2	46	238	26.44	4
B.SCALORA	19	19	9	72	236	23.60	34/2
P.LINEHAN	11	12	1	55*	215	19.55	5
S.GHAURI	14	15	1	61	211	15.07	7
J.KANE	11	12	1	51	209	19.00	5
B.BINDON	17	22	2	32	193	9.65	12
B.COX	11	14	5	38	172	19.11	4
W.SHAW	20	22	2	41*	170	8.50	5
D.BELL	18	15	2	31	152	11.69	5
M.MURPHY	9	11	2	56*	126	14.00	5
D.BARRY	21	19	4	25	118	7.87	. 13
G.HEWITT	6	9	4	31*	114	22.80	2
J.WHYTE	7	9	0	42	111	12.33	4
M.SANDISON	13	13	4	36*	105	11.67	7
P.KOCIAN	6	5	l	41*	95	23.75	1
D.GASCOINE	9	14	2	20	85	7.08	8
S.DAWSON	11	11	l	21	78	7.90	3
D.NARBEY	8	10	2	23	75	9.38	6
A.MOORE	6	7	3	30*	70	17.50	1
R.DUNCAN	22	17	8	22	64	7.11	5
C.RICKARDS	9	7	2	20*	60	12.00	3
M.SMITH	6	5	0	26	51	10.20	2
C.SMART	17	18	I	13	51	3.00	5
D.TERRELL	3	5	0	21	29	5.80	4
B.MURPHY	6	7	2	9*	28	5.60	1
J.NICHOLS	4	6	0	9	27	4.50	4
P.NEILSEN	6	7	4	9	16	5.33	0
C.MONCRIEFF	1	1	1	9*	12	12.00	0
M.GREEN	2	4	2	6*	12	6.00	2
B.LOWDEN	2	3	0	6	9	3.00	0
D.PILKINGTON	l	2	1	5	5	5.00	0
J.CHINA	l	1	0	4	4	4.00	0
D.WARREN	l	1	0	2	2	2.00	0
N.HERBERT	1	1	1	1*	l	•	0
A.MORTIMER	1	0	0	0	0	-	0

PLEASE NOTE - TWO 9TH GRADE GAMES EQUALS ONE CAREER GAME IN OVERALL RECORDS.

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE.
A.HAYWARD	/ 2591.5	599	6856	379	18.09
G.NAIRN	2243	663	5522	347	15.91
I.DICKERSON	2097.4	524	5902	271	21.78
M.LUKAN	1385.1	362	3411	203	16.80
M.DICKERSON	1184	233	3636	159	22,87
G.DICKERSON (GREG)	950.3	209	2712	151	17.96
S.KING	741.4	132	2348	131	17.92
A.MAGILL	1022.1	256	2751	123	22.37
G.EDMONDS	402.2	94	1115	86	12.97
L.GUY	578.2	143	1400	85	16.47
S.SHEARING	420.1	77	1258	64	19.66
B.HAYWARD	253	37	891	63	14.14
K.SPENCER	336	87	839	62	13.53
G.DICKERSON (GRAHAM)	273.1	89	1028	62	16.58
P.MURPHY	474.2	92	1356	58	23.38
P.QUARTERMAINE	334.3	47	1211	57	21.25
R.DUNCAN	335	85	929	5 5	16.89
S.CRANE	307.1	103	634	53	11.96
G.SHEPPARD	296	63	841	52	16.17
J.GEORGE	286.3	88	532	51	10.43
D.BELL	248.3	42	700	51	13.73
L.DUNGEY	158.3	12	614	40	15.35
W.SHAW	138.1	17	511	35	14.60
D.BARRY	296.3	62	951	34	27.97
M.SANDISON	125	32	255	27	9.44
C.RICKARDS	113.5	24	295	24	12.29
C.SMART	120	16	404	24	16.83
B.COX	116	29	271	22	12.32
S.PERROZZI	131.4	21	383	21	18.24
P.SMITH	212	52	536	20	26.80
G.HEWITT	70	14	251	13	19.31
M.HARMER	82	15	263	13	20.23
B.KELLY	93.1	20	297	12	24.75
R.FERNANDEZ	79.2	8	335	12	27.92
J.WARREN	46.1	7	165	11	15.00

PLAYER	OVERS	MAIDENS	RUNS	WICKETS	AVE
D.GASCOINE	62	9	210	11	19.09
K.MAGILL	60.5	5	302	11	27.45
S.GEORGE	43	10	135	10	13.50
D.NARBEY	61	14	178	10	17.80
J.CHANDLER	35,4	9	101	9	11.22
S.MAGILL	67	11	187	7	26.71
L.KIRWAN	33.1	7	119	7	17.00
A.MOORE	83	17	222	6	37.00
J.SMYTH	18	2	67	5	13.40
P.LINEHAN	23.1	i	82	5	16.40
J.KANE	63	6	212	5	42.40
G.DAVIES	56.5	8	240	5	48.00
R.JEVONS	10.2	1	66	4	16.50
B.LOWDEN	13	0	84	4	21.00
S.CAIRNS	16.3	0	68	3	22.67
D.RICKARDS	19.1	3	86	3	28.67
P.KOCIAN	40,4	11	111	3	37.00
P.NEILSEN	20	0	125	3	41.67
B.BINDON	8.4	2	22	2	11.00
M.GREEN	6	1	28	2	14.00
S.TAGLIAFERRI	19	4	71	2	35.50
D.BERRY	4	0	12	1	12.00
J.CHINA	4	1	13	1	13.00
M.SMITH	7	0	19	I	19.00
D.TERRELL	3	0	20	1	20.00
S.GHAURI	17.4	3	69	1	69.00
T.ZERAFA	13	0	78	I	78.00
M.MURPHY	29	5	107	1	107.00
B.MURPHY	1	0	5	0	-
K.FERGUSON	1	0	6	0	-
B.SCALORA	1	0	8	0	-
J.NICHOLS	4	1	16	0	-
R.BENNETT	I	0	17	0	-
S.DAWSON	8	1	38	0	-
K.DAWSON	15	I	61	0	-
P.WARREN	8	0	62	0	-

1996/97 SEASON

2ND GRADE CAPTAIN	STEVE SHEARING
2ND GRADE VICE CAPTAIN	DAVE BERRY
4TH GRADE CAPTAIN	GLEN DAVIES
4TH GRADE VICE CAPTAIN	PAUL MURPHY / TONY MAGILI
6TH GRADE CAPTAIN	GREG DICKERSON
6TH GRADE VICE CAPTAIN	LLOYD DUNGEY
7TH GRADE CAPTAIN	STEPHEN CAIRNS
7TH GRADE VICE CAPTAIN	GUS EDMONDS
9TH GRADE CAPTAIN	PAUL WARREN
9TH GRADE VICE CAPTAIN	JUSTIN WARREN
CHAIRMAN OF SELECTORS	DAVE BERRY

MILESTONES

MILESTONES ACHIEVED 1996/97 SEASON

250	GAMES	-	S.CAIRNS
150	GAMES	-	I.DICKERSON
100	GAMES	-	M.LUKAN
100	GAMES	-	M.HARMER
50	GAMES	-	L.GUY
7000	RUNS	-	L.DUNGEY
1000	RUNS	•	S.TAGLIAFERRI
1000	RUNS	-	M.LUKAN
1000	RUNS	-	S.MAGILL
1000	RUNS	-	P.WARREN
1000	RUNS	-	G.SHEPPARD
1000	RUNS	-	G.NAIRN
200	WICKETS	-	M.LUKAN
100	CATCHES	-	M.HARMER

MILESTONES ACHIEVABLE 1997/98 SEASON

350	GAMES	-	L.DUNGEY
150	GAMES	_	R.FERNANDEZ
100	GAMES	-	A.MAGILL
100	GAMES	-	S.MAGILL
50	GAMES	-	P.WARREN
50	GAMES	-	K.MAGILL
50	GAMES	-	S.SHEARING
50	GAMES	-	G.SHEPPARD
50	GAMES		P.MURPHY
50	GAMES		G.EDMONDS
5000	RUNS	_	A.HAYWARD
4000	RUNS	-	S.CAIRNS
3000	RUNS	_	R.FERNANDEZ
3000	RUNS	_	G.DICKERSON
3000	RUNS	-	I.DICKERSON
1000	RUNS	-	J.GEORGE
1000	RUNS	_	K.FERGUSON
1000	RUNS	-	T.ZERAFA
1000	RUNS	-	K.SPENCER
1000	RUNS	-	D.BERRY
400	WICKETS	-	A.HAYWARD
300	WICKETS	-	I.DICKERSON
100	WICKETS		G.EDMONDS
100	WICKETS	-	L.GUY
100	WICKETS	-	S.SHEARING
100	WICKETS	-	K.SPENCER
100	CATCHES	-	G.DAVIES

WEST AUSTRALIAN SUBURBAN TURF CRICKET ASSOCIATION

FINAL POINTS TABLE

GRADE 1	POINTS
Whitfords	107.27
D / Alexander	97.86
Swanbourne	92.22
Balcatta	91.64
Bassendean	88.41
Applecross	85,66
Marist Newman	85.31
Wem. Downs	77.97
High Wycombe	71.10
Curtin Uni,	64.13
Vic Park	63.22
Nollamara	58 14

GRADE 4	POINTS
Thornlie	114.05
Bedford/Morley	95.66
Nedlands	95.13
BENTLEY	88.77
Shenton Park	87.63
Doubleview	83.49
Frem/Mos. Park	82.73
Wembley	76.27
Melville	71.88
Murdoch	50.02
Ham / Carine	49.37
Tuart Hill	48.24

GRADE 7	POINTS
Ham / Carine	97.57
Shenton Park	97.31
Whitfords	95.39
Nollamara	93.60
Doubleview	89.60
Bedford/Morley	89.13
BENTLEY	81,30
Bassendean	77.22
Melville	62.87
High Wycombe	52.65
Marist Newman	49.23
Murdoch	42.40

POINTS
102.53
101.30
92.39
90.14
89.29
83.89
78.12
76.88
69.70
69.22
68.91
63.50

GRADE 5	POINTS
High Wycombe	111.07
Whitfords	109,63
Bassendean	92.54
Wem. Downs	90.74
Applecross	88.71
Tuart Hill	83.82
Marist Newman	75.05
Wembley	64.95
Balcatta	61.25
Swanbourne	60.98
Curtin Uni.	59.51
Vic Park	44.97

GRADE 8	POINTS
Whitfords	132.27
Thornlie	107.89
Melville	107.06
D / Alexander	104.61
Bedford Morley	96.93
Swanbourne	95.25
Tuart Hill	89.60
Nollamara	74.89
Applecross	59.39
Vic Park	49,99
Curtin Uni.	47.11
Murdoch	39.54

GRADE 3	POINTS
Whitfords	107.88
Balcatta	94.69
High Wycombe	93.60
Wem.Downs	88.21
Applecross	87.82
Curtin Uni.	85.19
Swanbourne	80.86
Vic Park	78.22
Nollamara	68.35
D / Alexander	55.10
Marist Newman	54.48
Bassendean	52.92

GRADE 6	POINTS
BENTLEY	109.71
Shenton Park	105.93
Whitfords	100.97
Wem. Downs	100.62
Bedford Morley	95.71
Thornlie	74.77
Frem/Mos.Park	67.71
Wembley	66.76
Applecross	65.64
Murdoch	54.47
Curtin Uni.	53.62
Nedlands	49.13

GRADE 9	POINTS
Wem. Downs	192.42
Frem/Mos.Park	156.86
Marist Newman	156,04
Whitfords	154.75
Wembley	143.13
Swanbourne	139.95
Nedlands	135.87
Thornlie	131.62
BENTLEY	126.46
Shenton Park	105.25
High Wycombe	96.74
Bedford Morley	96.35
Doubleview	60,90

